(2) 120.84

(1) 5.64

=
=0l
ol

® (1) ©%4 (2) Lol GEA

mp T
< o
&R

(1) 5.64 - 2 A}

(2) 120.84 - Mol A3 LA}




2.

g S AFe] A7 LR 7k 4 2R S ol AU

D 12.791 @)3.407 @ 7.123

@ 40.132 ® 0.684

24 4 A 27 YedE
D9 @0 B®2 ®3 GsYYL.
wrehA] 7HE 2 = 0 YUY




3. o FolAl 5.1 T A7 B2 A

i

DT T2AQ,

®s50 @510 @500 @510 © 501
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4.62,4.51,4.25,4.8,4.3,4.07

@ 571 @ 47 @3711 @ 27Y ® 171

&g AR A2 et A4 B ] o] 22 v W EY
4.09HTH 21 454 Brh 22 X 451,425,432 379Ut




rlo
4
il
_>"l_'4
&
K
x,
oL,
rlo
S,
o
k]
[
>
o

[ Jgrof gt

[ ]-sma1-[  ]-5743-[ ]
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@) 02203
@ (1)0.4(2) 0.3
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0.45 + 0.06 = 0.51
0.85 - 0.29 = 0.56
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(1) 6.871 4 3.95
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3 10 11 15 10
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0.6(kg)

4200( g)
4200 + 7 = 600( g)

HA 2.
0.6kg
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22. g £AF FHES BE G AT AN BE B 2 25 @ A
S} AV ke % A Al 0] G FotA L.

[ 2
[> HEH: 644.446

Z A5 32 4 6431
2r2 A Al ZHE] S0 1.346
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24. D Qo) S0l b =259 2 5L
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]1.221
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3. 514
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1+L43=12 L =8

1+45+C =12, C =6

1+ 4+4=11, 1=6

143=m1, 1=/

SlelAFE 2= 6,8,6,7,40| B2, ZAHE]

2 310]th.




25.

e AFTHE 2.473kg B, AAtole AR} 0.048kg T Hol
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